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      General Instructions to Candidates :
There is a 'Cool off time' of 15 minutes in addition to the writing time
of 2 hrs.
You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.
Use the 'cool off time' to get familiar with questions and to plan your
answers.
Read the questions carefully before answering.
All questions are compulsory and only internal choice is allowed.
When you select a question, all the sub-questions must be answered from
the same question itself.
Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.
Give equations wherever necessary.
Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.

     j]¡SÇw°¥:

j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.
CT yop¾V S\Lh|°¥ V̈ D¾qU IuOfLSjL, oãOçvqOoLp] Bwp
v]j]opU ja¾LSjL kLa]Š.
D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkO¡‹U vLp]¨eU.

IŠL S\Lh|°¥¨OU D¾qU IuOfeU.

KqO S\Lh|jÒ¡ D¾qRouOfL¢ RfqR´aO¾O Wu]´L¤ Dk
S\Lh|°tOU ASf S\Lh| jÒq]¤ j]ÐV fRÐ RfqR´aOS¨ºfLeV.
We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾q
SkÕr]¤¾RÐ DºLp]q]¨eU.

Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.
S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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1. Processed data is known as ........

a) facts

b) figures

c) information

d) raw material

2. USB port stands for ..............

a) Uniform Serial Bus

b) Universal Serial Bus

c) Uninterruptible Serial Bus

d) Updatable Serial Bus

3. Fill the missing block.

1. yUyVWq]¨RÕŸ cLãRp ................

IÐV krpOÐO.

a) facts

b) figures

c) information

d) raw material

2. USB ............ SkL¡Ÿ]Rj Nkf]j]iLjU

R\áOÐO.

a) Uniform Serial Bus

b) Universal Serial Bus

c) Uninterruptible Serial Bus

d) Updatable Serial Bus

3. fLRu RWLaO¾]q]¨OÐvp]¤

v]ŸOSkLpf]Rj kPq]Õ]¨OW.

(1)

Source Code Object Code

4. fLRu fÐ]q]¨OÐvp]¤ Ry¡\ÿV

Iµ]¢ AsæL¾fV JfV?

a) Google

b) Bing

c) Face book

d) Ask

5. ICT DkSpLYRÕaO¾]pOtt Syvj

°t]¤ BPO Nkf]j]iLjU R\áOÐfV

................ BeV.

4. Which one of the following is

NOT a search engine?

a) Google

b) Bing

c) Face book

d) Ask

5. In ICT enabled services BPO

stands for ......... (1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)
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6. for, while, do while are the

three looping statements in C++.

From these three loops which

loop will execute the loop body

at least once even though the

condition is false?

a) for loop

b) while loop

c) do while loop

d) do for loops

7. HTTP stands for ........................

protocol.

8. IDE stands for ........................

(1)

(1)

6. for, while, do while oOfsLpv

C++ Rs Bv¡¾]\ÿV Nkv¡¾]¨OÐ

j]¡Shw°tLeV. Cf]¤ JfV

j]¡ShwoLeV v|vò

RfãLReË]sOU loop Rs

j]¡Shw°¥ KqO NkLvw|RoË]sOU

yUyVWq]¨RkaOÐfV.

a) for loop

b) while loop

c) do while loop

d) do for loops

7. HTTP Nkf]j]iLjU R\áOÐfV

................................. SNkLSŸLSWL¥.

8. IDE Nkf]j]iLjU R\áOÐfV ...........

9. X , Y IÐ} \q°¥ qºV kP¡e

yUX|WRt yPƒ]¨L¢

DkSpLY]¨OÐO IÐ]q]¨RŸ.

A°RjpLReË]¤ fLRu

fÐ]q]¨OÐ C¢kOŸV j]¡Shw¾]Rs

RfãV f]qO¾OW.

cin<<X>>Y;

9. Let X and Y are two variables of

int data type, then correct the

following input statement.

cin<<X>>Y;

a) Integrated Development Environment

b) Information Development Environment

c) Inheritance Development Environment

d) Interactive Development Environment

(1)

(1)

(1)

(1)

(1)

(1)
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10. In a flow chart, the terminal (an

ellipse) symbol is used to

indicate the ......... and .......... in

the program logic.

11. A ........ is a computer peripheral

that allows you to connect and

communicate with other

computers via telephone lines.

12. Differentiate or define the terms
Hard Ware (H / W) and Soft
Ware (S / W) in a computer
system. Give one example for
each.

13. a) Convert (1010.11)2 to

decimal.

b) Find the missing terms in the

following series.

1816, 1A16, 1C16, ......, .......

14. Predict the output of the

following operations.

x = –5 and y = 3 initially

a) –x

b) x/y

c) x%y

d) –x + –y

OR

10. KqO SlæL\L¡Ÿ]¤ ellipse \]zVjU

SNkLNYLU SsL^]¨]R£ ............ RjpOU

................ RjpOU Nkf]j]iLjU

R\áOÐO.

11. Ras]SlL¦ vprOWt]sPRa oãV

WUk|PŸrWtOoLp] mÌ]Õ]¨OÐ

f]jOU Bwp v]j]opU ja¾OÐf]

jOU yzLp]¨OÐ WUk|PŸrjOmÌ

DkWqeoLeV ...................... .

12. zL¡cVRvp¡ SyLlVãVRvp¡ IÐ}

kh°Rt j]¡v\]¨OW. KLSqL

DhLzqeU v}fU j¤WOW.

13. a) (1010.11)2 IÐ RRmjr]

yUX|Rp Rcy]o¤ yUX| B¨]

oLãOW.

b) fLRu fÐ]q]¨OÐvp]¤

v]ŸOSkLpf]Rj kPq]Õ]¨OW.

1816, 1A16, 1C16, ......, .......

14. x R£ BqUn v]s –5 DU y pORa

BqUn v]s 3 DU BReË]¤, fLRu

fÐ]q]¨OÐ NW]pW¥¨V SwxoOtt

D¾q°¥ IuOfOW.

a) –x

b) x/y

c) x%y

d) –x + –y

ARsæË]¤

(2)

(3)

(2)

(1)

(1)

(1)

(2)

(3)

(2)

(1)

(1)

(1)
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OR

Consider the following

statement.

int Length;

Then what is the difference

between (a) and (b)?

a) Length = 50

b) Length = = 50

15. Arrange the following memory

or storage devices on the base of

their operation speed in

ascending order.

a) Hard Disk

b) Cache

c) RAM

d) Registers

16. List the different stages in

programming.

17. Classify the following identifiers

valid or invalid. If invalid, give

a reason.

a) Length_1

b) _Length1

c) Length 1

d) 1Length

ARsæË]¤

fLRu fÐ]q]¨OÐ j]¡SÇwU

kq]Ye]¨OW.

int Length;

BReË]¤ fLRu fÐ]q]¨OÐ

j]¡SÇwU  (a) pOU  (b) pOU fÚ]sOtt

v|f|LyU IuOfOW.

a) Length = 50

b) Length = = 50

15. fLRu krpOÐ yUnqe

DkWqe°Rt AvpORa Nkv¡¾j

SvYfpORa Aa]òLj¾]¤

BSqLze NWo¾]¤ IuOfOW.

a) Hard Disk

b) Cache

c) RAM

d) Registers

16. SNkLNYLo]UY]Rs v]vi ZŸ°¥

IuOfOW.

17. fLRu fÐ]q]¨OÐ Apc£]lprO

W¥ AjOvhj}pU BSeL AsæSpL

IÐV WLqeyz]fU IuOfOW.

a) Length_1

b) _Length1

c) Length 1

d) 1Length

(3)

(2)

(2)

(4)

(3)

(2)

(2)

(4)
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18. A part of bio data of a student is

given. Identify the data types

which we can use to store and

process these data.

Roll_Number : 34

Age : 17

Sex : M

Mob_Number : 8181818181

Height_In_Cm : 152.8

Pincode : 690601

19. State weather the following
statement are true or false. If
false, give a reason.

18. KqO v]h|L¡À]pORa v|©]
v]vq¾]Rs \]s nLY°¥ \OvRa
S\¡¾]q]¨OÐO. CT ScãWRt
WUk|PŸr]¤ yPƒ]¨OÐf]jOU
yUyVWq]¨OÐf]jOU AjOSpL^|
oLp Scã RRãkOW¥ IuOfOW.

Roll_Number : 34

Age : 17

Sex : M

Mob_Number : 8181818181

Height_In_Cm : 152.8

Pincode : 690601

19. fLRu fÐ]q]¨OÐ j]¡Shw°¥

wq]pLSeL RfãLSeL IÐV

WLqeyz]fU IuOfOW.

(3)

20. URL Nkf]j]iLjU R\áOÐfV

pPe]SlLU r}SyL¡yV SsLSWã¡

IÐLeSsæL. C£¡Rjã]sOtt KLSqL

r}SyL¥y]jOU KqO JW}WQf URL
DºLp]q]¨OU A°RjRpË]¤ fLRu

fÐ]q]¨OÐ URL Rs ZaW°¥

Sv¡f]q]\ÿV IuOfOW.

http://www.dhsekerala.gov.in/
index.html

a) Network protocol (R£ SkqV)

b) Domain name  (R£ SkqV)

c) File name (R£ SkqV)

20. URL stands for Uniform
Resource Locator. Every
resource on the internet has a
unique URL. Then classify the
following URL on the basis of

http://www.dhsekerala.gov.in/
index.html

a) Network protocol

b) Domain name

c) File name

a) Break statement is essential in switch

b) For loop is an entry controlled loop

c) Do .......... while loop is an entry controlled loop

d) Switch is a selection statement.

(4)

(3)

(3)

(4)

(3)
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21. WAN, LAN Cv fÚ]sOtt v|f|LyU

IuOfOW.

22.  A = 5, B = 4, C = 3, d = 4,

21. How is a WAN different from a

LAN?

22. If A = 5, B = 4, C = 3, d = 4, then

what is the result in X after the

following operation?

X = a + b – c * d

OR

Is there any difference between

(a) and (b) by considering the

following statement?

char Gender;

(a) Gender = 'M';

(b) Gender = "M";

23. Your friend Ravi purchased a
new PC for his personal use.
Mention the components
required to connect this PC to
internet.

24. Compare the advantages and

disadvantages of implementing

e-Business.

25. Compare Dot Matrix Printer

(DMP). Inkjet Printer, Laser

Printer and Thermal Printer on

the basis of their working speed,

quality of printing and expense

for printing.

A°RjpLReË]¤ fLRu fÐ]q]&

¨OÐ NW]p¨V SwxU X Rs v]s

IÍLp]q]¨OU?

X = a + b – c * d

ARsæË]¤

fLRu fÐ]q]¨OÐ j¡ShwU

kq]Ye]¨OW.

char Gender;
A°RjpLReË]¤ (a) , (b) Cv

fÚ]sOtt v|f|LyU IuOfOW.

(a) Gender = 'M';

(b) Gender = "M";

23. j]°tORa yOzQ¾V qv] KqO kOf]p

WUk|PŸ¡ vL°]. ApL¥¨V CT

WUk|PŸr]Rj C£¡Rjã]Ss¨V

mÌ]Õ]¨OvL¢ Bvw|oLp

ZaW°¥ IuOfOW.

24. e-Business NkSpLY¾]¤

vqO¾OÐfORWLºOtt YOe°tOU

Sjq]aLvOÐ RvsæOv]t]WtOU

v]vq]¨OW.

25. fLRu krpOÐ Nk]£rOWRt

AvpORa Nkv¡¾j SvYf,

A\ÿa]pORa SoÓ, A\ÿa]¨OSvº]

vqOÐ R\svV CvpORa

Aa]òLj¾]¤ fLqfo|U R\pVfV

IuOfOW.

Dot Matrix Printer (DMP),
Inkjet Printer, Laser Printer,
Thermal Printer

(5)

(3)

(3)

(3)

(3)

(3)

(5)

(3)

(3)

(3)

(3)

(3)
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26. Rewrite the following code
using else if ladder.
#include<iostream>

using namespace std;

int main()

{

int colour;

cout<<"Enter a number

between 1 and 4:";

cin>>colour;

switch (colour)

{

case 1:

cout<<"Red";

Break;

case 2:

cout<<"Green";

break;

case 3:

cout<<"Blue";

break;

default:

cout<<"wrong input";

}

}

OR

Write a C++ program to find the
biggest number from 3 given
numbers.

26. fLRu fÐ]q]¨OÐ SNkLNYLU else if
DkSpLY]\ÿV oLã] IuOfOW.

#include<iostream>

using namespace std;

int main()

{

int colour;

cout<<"Enter a number

between 1 and 4:";

cin>>colour;

switch (colour)

{

case 1:

cout<<"Red";

Break;

case 2:

cout<<"Green";

break;

case 3:

cout<<"Blue";

break;

default:

cout<<"wrong input";

}

}

ARsæË]¤

fÐ]q]¨OÐ oPÐO yUX|Wt]¤

JãvOU vs]p yUX|

WRº¾OÐf]jOtt KqO C++
SNkLNYU IuOfOW.

(5)
(5)

(5) (5)


